FORUPIVAN £210 SEHEF v Y EZ Y XN Y TU-12
2023511818, 198 “IE1 - BE22EHT SV R

(1B88) (EVDORIZLF)

F228HI5Y R() F£228H0I5Y Q) £1288055Y k() 128055V R(Q)
900 BM 0 -2 =HH 5 2 -3 = R 8 -0 3
950 KRB 0 -3 {UEA = 1 -4 @B g 1 -1 ok
10:30 = 4 -2 R 5 1 -3 BE AlE 1 -0 BB il 2 -3 AH
1120 SEE 1 - 6 = BE 2-2 R ABE 2 -2 Bk lgg 5 -0 B3
1210 BB 0 -2 EA |sm=E%H[1 - 1 EB A 2 -0 R
12650 g 6 -0 B sk 2 -0 B = 5-2 KB AB 3 -1 =WEH
1340 Wm 2 -3 Bl sM 1 -7 BB EEE 1 -2 KB ABH 4 -3 BE
1430 B 1 - 1 K5 | EMEEEH[ 2 - 1 = A 7 -0 B
1510 P 0 -0 BB || =% 0-8 BE AB 5 -1 BMNEBEH| 24 2-8 R
16:30 Ay IROEBRD, BRIB|S
XEBHIBIY

1) £2ZBRISY RN OBHE, 2205V R THREETDF—ADMIV E12EHNTSY R OBHEE1 ZENTSY F1)DF—ALR
D, LRAF—ADBIFDOEBEZTV. BHREIEGRIF—ADMTD,
2) FEPFIE. B0 UDHEZ LTSN F—ANES

(288) (Y IREET)

B12BHTSYE (2)
9.00 AB O -2 R 55 4 - 1 23r g 4 - 2 th 4 1 -1 6E
950 | @A 1 -0 @B | o8 1 -0 EnshB| | AB 6 -2 = e 4 -2 <&
1080] =0H® 0 -5  m 2B 5 -2 BW % 65-0 Bk | UA 2 1 &%
1120] &M 3 2 Al 280 -0 o= 2  1-0 o8
1210] _AB 1 -1 @B | PR 0 -3 EmemB| | BE 5 -0 =
1260] ®% 1 -2 A 285 -0 6% WE 3 -0 =n® | BW 4 -2 B
1340| ®% 4 0 ©% 281 -1 %8 e 1 -4 % | =5® 3 -2 &t
1430] _AB 0 -2 fBA | PR 0 2 && Bt 0 -3 AB | &% 0 -5 om
KEBHBIZ

1) £22ENTISYFNOBHE, F2ZB8HTS5Y R THEEZIDF—LANTI. F1ZENTSYRQDOBHEEIZENITSY RFH)DF—AER
Do LRAIF—ADBIHFOEBEZTV. BHEESEGRIF—ADTD, F1ZEHNTSY R(Q2) 960 IIFE-KIBOBHIIEMELE. 14:30 EM-PROBHIIR
CRILTHRENELET,

2) ZFEPIL. B@T0vIDHEE LTSN F—ANEY



TORUPIVAM 200 SHEF v EA Y XNy TU-12
2023F11818,198 LIIFE1 - F2EBHISV R
CED
R | A8 [ wm [ pR [ B2 [ A5 [ SHH | 65 | &M | Bt [BR] 85aE |[IBEW
= 200[401|402[302|502][601|100[802[500[ 27| 28 1
A8 [0 @2 302|0A0[403[141[301[500[502[501]20 14 2
E |[1e4[2e@3 402|201]402][300[500[600|2@3] 18 14 3
bR [2e4|0nr0[2e@4 2ar2|800|500[0Aa0|500[200] 15 16 4
52 [ce3|3e4|1@2][2n2 1@2[800[400|301[401]13 13 5
AE_ [2@5[1A1|2@e4|0@8][201 2011 00[2@3]2a2[ 11| -1 6
SH#% (1ec|1e3|oe3|oe5(0es[1e@2 1A1|200[302] 7 21 7
65 |oe1|oe5|oes5|oar0(0o@4|0o@1[1 A 701|2a2] 6 10 8
2m (2 es|2e5|0oe6|loe5[1e3[302[(0e2[1@7 402] 6 27 9
=k |oes|[1e5[s02[ce2][1e4|2r2][2e3[2r2[2@4 5 16| 10
(4 F)
188 —RrU=Y 288 IBfi1U—2
@ WEA | 68 | A | B |BEa=] B 1HU—7 [ @A | UEB | AB | Bm |Sxmz] B
A 200|300 6 5 [ 1] |[@ wmA 100|200 6] 3 |1
65 0C@2 1A1] 1| 2 [ 2] |2 w=s 0@ 1 1TA4] 1| 1 | 2
Al cCe3[1A1 1] 3 [ 3] [@ &8 cC@2[1 A1 1] =2 |3
2 BB [E-5 [ R [ B |BE==[IEk ot—0 | 65 [ 5.8 | bR | BR|BEaE| B
EE 1a1[401] 4| 3 1| |© &5 1e3[200[ 3] 0 [2
EM - SIS [1 A 1 201 4 [ 1 2 | |2&m-285 |3 O 1 3ool 6 5 [
= 104|102 o 4 [ 3] [@ o= cez2loe@3 o] 5 |3
® AB [ R [ B [ BR|[BEa=E] Bk 3= [ xiE | R [ Bit |[BR[BESE]E
AB 200|700 6 9 [ 1] [@ xB 602|300 6 7 [
PR 0O@2 1TA1] 1| 2 [ 2] |[@ = 2 @6 ces5| 0| 9 [3
=it ce7[1A 1] 7 [ 3] [@ &% ce3|[500 3| 2 |>2




